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2017 Oct New 2V 0-622PSE Exam Dumps with PDF and V CE Free Updated Today! Following are some new 2V 0-622PSE
Questions:1.]12017 New 2V 0-622PSE Exam Dumps (PDF & V CE) 375Q& As Download:
https://www.braindump2go.com/2v0-622pse.html 2.|2017 New 2V 0-622PSE Exam Questions & Answers Download:
https://drive.google.com/drive/fol ders/OB75b5x Y Lj SSNSFBxQkxY R3IDd1E?usp=sharing QUESTION 51Which two features are
deprecated in Network 1/0O Control 3 (NIOC3)? (Choose two.)A. Class Of Service (COS) TaggingB. Bandwidth AllocationC.
User-defined network resource poolsD.  Admission control Answer: ACQUESTION 52An administrator runs the command esxcli
storage core device list and sees the following output:mpx.vmhbal:C0: TO:L0 Display Name: RAID 5 (mpx.vmhbal:CO0:T0:L0) Has
Settable Display Name: false SizE. 40960 Device Type: Direct-Access Multipath Plugin: NMP Devfs Path:
Ivmfs/devices/disks/mpx.vmhbal:CO: TO:LO Status: off IsLocal: trueWhat can be determined by this output?A. Thedeviceisa
being used for vFlash Read Cache.B. Thedeviceisin aPermanent Device Loss (PDL) state.C. Thedeviceisalocal Solid State
Device (SSD).D. Thedeviceisin an All Paths Down (APD) state. Answer: BQUESTION 53What are two use cases for Fibre
Channel Zoning in avSphere environment? (Choose two.)A.  Increases the number of targets presented to an ESXi host.B.
Controls and isolates paths in afabric.C. Controls and isolates paths to an NFS share.D.  Can be used to separate different
environments.Answer: BDQUESTION 54Which two considerations should an administrator keep in mind when booting from
Software Fiber Channel over Ethernet (FCoE)? (Choose two.)A.  Software FCoE boot configuration can be changed from within
ESXi.B. Software FCoE boot firmware cannot export information in FBFT format.C.  Multipathing is not supported at pre-boot.
D. Boot LUN cannot be shared with other hosts even on shared storage.Answer: CDQUESTION 55An administrator notices that
thereisan al paths down (APD) event occurring for the software FCoE storage.What is a likely cause?A.  Spanning Tree Protocol
is enabled on the network ports.B.  Spanning Tree Protocol is disabled on the network ports.C.  Spanning Tree Protocol is enabled
on the storage processors.D.  Spanning Tree Protocol is disabled on the storage processors.Answer: AQUESTION 56Which two
statements are true regarding iSCS| adapters? (Choose two.)A. Software iSCSI adapters require vmkernel networking.B.
Independent Hardware i SCSI adapters offload processing from the ESXi host.C. Dependent Hardware iSCSI adapters do not
require vmkernel networking.D. Independent Hardware iSCS| adapters require vmkernel networking.Answer: ABQUESTION 57
An administrator is configuring virtual machines to use Worldwide Port Names (WWPNS) to access the storageWhich two
conditions are required? (Choose two.)A. The switchesin the fabric must be N-Port ID Virtualization aware.B. The virtual
machines must be using passthrough Raw Disk Mapping (RDMp).C. The virtual machines must be using Virtual Machine Disk
(VMDK).D. The switchesin the fabric must be Storage 1/0 Control aware.Answer: ABQUESTION 58Which two statements are
true regarding VMFS3 volumes in ESXi 6.x? (Choosetwo.)A. Creation of VMFS3 volumesis unsupported.B.  Upgrading
VMFS3 volumesto VMFS5 is supported.C.  Existing VMFS3 volumes are unsupported.D.  Upgrading VMFES3 volumes to
VMFS5 is unsupported.Answer: ABQUESTION 59Which three statements are correct regarding Fibre Channel over Ethernet
(FCOE)? (Choose three.)A.  The network switch must have Priority-based Flow Control (PFC) set to AUTO.B. The network
switch must have Priority-based Flow Control (PFC) set to ON.C. Each port on the FCoE card must reside on the same vSwitch.D.

Each port on the FCoE card must reside on a separate vSwitch.E.  The ESXi host will require areboot after moving an FCoE card
to adifferent vSwitch.Answer: ADEQUESTION 60Which two statements are true regarding Virtual SAN Fault Domains? (Choose
two.)A. They enable Virtual SAN to tolerate the failure of an entire physical rack.B. Virtual SAN ensures that no two replicas
are provisioned on the same domain.C.  Virtual SAN ensuresthat all replicas are provisioned on the same domain.D. They
require VMware High Availability (HA) to ensure component distribution across domains.Answer: ABI'RECOMMEND!!!1.]2017
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